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學號學號學號學號：：：：___________________________________ 
 

姓名姓名姓名姓名：：：：___________________________________ 
 
Find the Thévenin equivalent paramaters, vTH and RTH, for the port ab of the network shown in the following 
figure. 
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Solution: 
 
(i) vTH 
The vTH can be found by determining the open-circuit voltage across port ab. 
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(ii)   RTH 
With the independent current source set to zero, we can find the RTH by forcing a testing current i test into 
terminal a and caculate the voltage vtest across ab. 
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vTH =                                    8V                                   , RTH =                                    6Ω                                   . 




